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DL ( ) 1(2)
(+ - ) NdkN) ] o

Mm Mcud(kN m) |  ————-

Lam | -

Vmu(kN) | ———--

VudkN) | -

vmuw/NVNud | _____
Mdmax(kN m) |  _—____

Mdmax Myd MydkNm) | -
vio 1
y i Mdmax/Myd | _____
Vdmax(kn) | ___

vudkN) | -

yioo |
y i vdmax/Vvud | _____

3

0 d(rad) 0.049029

(+ - ) Nd(kN) 96716

0 1(rad) 0.007235

8 2(rad) 0.048086

8 3(rad) 0.055981
y i 1.00
yi6dmei1 6.777
yi0d/me?2 1.020
yi6d/mes 0876
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DL ( ) 2(7) 2(8) 3(9) 3(10) 3(11) 3(12) 3(13) 3(14) 3(15) 3(16)
(0 1000) ctc100 (@ 1000) ctc100 (0 1000) ctc200 (0 1000) ctc200 (0 1000 ctc200 (0 1000) ctc200 (@ 1000 ctc200 (0 1000 ctc200 (0 1000) ctc200 (@ 1000) ctc200

Mdmax  Mm Mdmax(kNm) | _———- | = )} e e e e e e e e
Mm McudkN m) | - | e | —eem ) e e e e e e e

Mdmax/Mm( 17/ [e1¥T0 ) RN Dt e [ I I R A [ N E——

(1

Vdmax(kN) - | | = e e e e e m ) e

Vdmax MdkNm)y | - | - | - | - el e e e e

\Vdmax (+ - MELCTCC) N A R (N [ [N R (R [ [ I

1 Mm A7{Ve1() H [ I————— A ————— A ————— N ————— N ———— N ————— ———— - T ——
Mm T D e e e e R Y R R B
Mdmax/Mm Mld'%ax Mm a vdmax/NVNud 0 | - 1V - 1 - 1 - - -l .- - -
Mdmax(kNm)y | -——-——— | -2 | e | e e e o e e

Mdmax Myd Myd(kN m) ——————————————————————————————————————————————————
122 A A ————— R A ———— R N ———— N ——"—— N ———— A —————) T ————

y i Mdmax/Myd 1 ___—- | | e e | e e = = e

A{e [ V(<)) I [N I [ [ I S A I E N

vudkny oV -} oV o e e e e e e

1Y 2 e Y [ Y v R I (Y T

y i vdmax/Vvud 1 - | = | e = | e e e e e e

2 2 2 2 2 2 2 2 2 2

@ d(1/m) 0.001902 0.002057 0.002122 0.002124 0.001741 0.001094 0.000544 0.000173 0.000043 0.000032

(+ - ) N(kN) 3408.4 3436.6 34555 3476.1 3497.9 2980.9 2544.2 2103.8 -1770.9 -1529.5

¢ 1(1/m) 0.005828 0.003917 0.003914 0.003910 0.003906 0.003995 0.004070 0.004145 0.004805 0.004763

@ 2(1/m) 0.058662 0.052485 0.044804 0.044839 0.044876 0.044000 0.043260 0.024380 0.024380 0.024380

@ 3(1/m) 0.058662 0.052485 0.044804 0.044839 0.044876 0.044000 0.043260 0.042557 0.037649 0.038013
y i 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
yigdoel 0.326 0.525 0.542 0.543 0.446 0.274 0.134 0.042 0.009 0.007
yi@d/e?2 0.032 0.039 0.047 0.047 0.039 0.025 0.013 0.007 0.002 0.001
yig@d/e3 0.032 0.039 0.047 0.047 0.039 0.025 0.013 0.004 0.001 0.001

1 1 1 1 1 1 1 1 1 1
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DL ( ) 3(17) 3(18) 3(19) 3(20) 3(21) 3(22) 3(23) 3(24) 3(25) 3(26)
(0 1000) ctc200 (@ 1000) ctc200 (0 1000) ctc200 (0 1000) ctc200 (0 1000 ctc200 (0 1000) ctc200 (@ 1000 ctc200 (0 1000 ctc200 (0 1000) ctc200 (@ 1000) ctc200
Mdmax  Mm Mdmax(kNm) | _———- | = )} e e e e e e e e
Mm McudkN m) | - | e | —eem ) e e e e e e e
Mdmax/Mm( 17/ [e1¥T0 ) RN Dt e [ I I R A [ N E——
(1
Vdmax(kN) - | | = e e e e e m ) e
Vdmax MdkNm)y | - | - | - | - el e e e e
\Vdmax (+ - yNdkN) | - | - | - | - | -} - | - ol -

1 Mm A7{Ve1() H [ I————— A ————— A ————— N ————— N ———— N ————— ———— - T ——
Mm T D e e e e R Y R R B
Mdmax/Mm Mld'%ax Mm a vdmax/NVNud 0 | - 1V - 1 - 1 - - -l .- - -

Mdmax(kNm)y | -——-——— | -2 | e | e e e o e e
Mdmax Myd Myd(kN m) ——————————————————————————————————————————————————
122 A A ————— R A ———— R N ———— N ——"—— N ———— A —————) T ————
y i Mdmax/Myd 1 ___—- | | e e | e e = = e
A{e [ V(<)) I [N I [ [ I S A I E N
AV [C0)) E (R [ [N I I N I I (R
1Y 2 e Y [ Y v R I (Y T
y i vdmax/Vvud 1 - | = | e = | e e e e e e
2 2 2 2 2 2 2 2 2 2

@ d(1/m) 0.000022 -0.000028 -0.000027 -0.000021 -0.000019 -0.000016 -0.000013 -0.000008 -0.000006 -0.000002
(+ - ) N(kN) -1582.1 1792.3 1757.2 1701.0 15335 1435.9 14416 12135 1370.9 174.8

¢ 1(1/m) 0.004772 -0.004198 -0.004204 -0.004214 -0.004242 -0.004258 -0.004258 -0.004296 -0.004269 -0.004472

@ 2(1/m) 0.024380 -0.024380 -0.024380 -0.024380 -0.024380 -0.024380 -0.024380 -0.024380 -0.024380 -0.024380

@ 3(1/m) 0.037934 -0.042115 -0.042065 -0.041985 -0.041747 -0.041609 -0.041617 -0.041293 -0.041517 -0.040014
y i 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
yigdoel 0.005 0.007 0.006 0.005 0.004 0.004 0.003 0.002 0.001 0.000
yi@d/e?2 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.000 0.000 0.000
yig@d/e3 0.001 0.001 0.001 0.000 0.000 0.000 0.000 0.000 0.000 0.000

1 1 1 1 1 1 1 1 1 1
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DL ( ) 2(28) 2(29) 3(30) 3(31) 3(32) 3(33) 3(34) 3(35) 3(36) 3(37)
(0 1000) ctc100 (@ 1000) ctc100 (0 1000) ctc200 (0 1000) ctc200 (0 1000 ctc200 (0 1000) ctc200 (@ 1000 ctc200 (0 1000 ctc200 (0 1000) ctc200 (@ 1000) ctc200

Mdmax  Mm Mdmax(kNm) | _———- | = )} e e e e e e e e
Mm McudkN m) | - | e | —eem ) e e e e e e e

Mdmax/Mm( 17/ [e1¥T0 ) RN Dt e [ I I R A [ N E——

(1

Vdmax(kN) - | | = e e e e e m ) e

Vdmax MdkNm)y | - | - | - | - el e e e e

\Vdmax (+ - MELCTCC) N A R (N [ [N R (R [ [ I

1 Mm A7{Ve1() H [ I————— A ————— A ————— N ————— N ———— N ————— ———— - T ——
Mm T D e e e e R Y R R B
Mdmax/Mm Mld'%ax Mm a vdmax/NVNud 0 | - 1V - 1 - 1 - - -l .- - -
Mdmax(kNm)y | -——-——— | -2 | e | e e e o e e

Mdmax Myd Myd(kN m) ——————————————————————————————————————————————————
122 A A ————— R A ———— R N ———— N ——"—— N ———— A —————) T ————

y i Mdmax/Myd 1 ___—- | | e e | e e = = e

A{e [ V(<)) I [N I [ [ I S A I E N

vudkny oV -} oV o e e e e e e

1Y 2 e Y [ Y v R I (Y T

y i vdmax/Vvud 1 - | = | e = | e e e e e e

2 2 2 2 2 2 2 2 2 2

@ d(1/m) 0.001490 0.001936 0.002002 0.002004 0.001580 0.000925 0.000304 0.000172 0.000110 0.000077

(+ - ) N(kN) -4996.7 -4984.0 -4971.1 -4958.8 -4942.8 -4530.2 -4172.0 -3814.5 -3553.0 -3484.7

¢ 1(1/m) 0.008715 0.005861 0.005857 0.005853 0.005848 0.005725 0.005621 0.005519 0.005445 0.005426

@ 2(1/m) 0.036808 0.032094 0.024380 0.024380 0.024380 0.024380 0.024380 0.024380 0.024380 0.024380

@ 3(1/m) 0.042236 0.037548 0.029862 0.029888 0.029922 0.030852 0.031694 0.032437 0.032889 0.033007
y i 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
yigdoel 0.171 0.330 0.342 0.342 0.270 0.162 0.054 0.031 0.020 0.014
yi@d/e?2 0.040 0.060 0.082 0.082 0.065 0.038 0.012 0.007 0.004 0.003
yig@d/e3 0.035 0.052 0.067 0.067 0.053 0.030 0.010 0.005 0.003 0.002

1 1 1 1 1 1 1 1 1 1
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DL ( ) 3(38) 3(39) 3(40) 3(41) 3(42) 3(43) 3(44) 3(45) 3(46) 3(47)
(0 1000) ctc200 (@ 1000) ctc200 (0 1000) ctc200 (0 1000) ctc200 (0 1000 ctc200 (0 1000) ctc200 (@ 1000 ctc200 (0 1000 ctc200 (0 1000) ctc200 (@ 1000) ctc200
Mdmax  Mm Mdmax(kNm) | _———- | = )} e e e e e e e e
Mm McudkN m) | - | e | —eem ) e e e e e e e
Mdmax/Mm( 17/ [e1¥T0 ) RN Dt e [ I I R A [ N E——
(1
Vdmax(kN) - | | = e e e e e m ) e
Vdmax MdkNm)y | - | - | - | - el e e e e
\Vdmax (+ - MELCTCC) N A R (N [ [N R (R [ [ I
1 Mm A7{Ve1() H [ I————— A ————— A ————— N ————— N ———— N ————— ———— - T ——
Mm T D e e e e R Y R R B
Mdmax/Mm Mld'%ax Mm a vdmax/NVNud 0 | - 1V - 1 - 1 - - -l .- - -
Mdmax(kNm) | = | -2 } - | e | e e e e o e
Mdmax Myd Myd(kN m) ——————————————————————————————————————————————————
y. 0 e = ===} == == ==} e ey e -
y i Mdmax/Myd | - | == | e | e el el e e e e
Vdmax(kkn) -} = 1 - | ===l el e e e e e e
vudkny oV -} oV o e e e e e e
1Y 2 e Y [ Y v R I (Y T
y i vdmax/Vvud 1 - | = | e = | e e e e e e
2 2 2 2 2 2 2 2 2 2

@ d(1/m) 0.000049 0.000027 0.000010 -0.000009 -0.000012 -0.000012 -0.000012 -0.000009 -0.000007 -0.000004

(+ - ) N(kN) -3342.0 -32434 -3164.2 -2978.2 -2979.2 -2887.4 -2853.3 -2662.4 -27375 -2695.1

¢ 1(1/m) 0.005386 0.005358 0.005336 -0.005285 -0.005285 -0.005260 -0.005251 -0.005199 -0.005219 -0.005208

@ 2(1/m) 0.024380 0.024380 0.024380 -0.024380 -0.024380 -0.024380 -0.024380 -0.024380 -0.024380 -0.024380

@ 3(1/m) 0.033254 0.033425 0.033563 -0.033913 -0.033911 -0.034084 -0.034148 -0.034507 -0.034366 -0.034446
y i 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
yigdoel 0.009 0.005 0.002 0.002 0.002 0.002 0.002 0.002 0.001 0.001
yi@d/e?2 0.002 0.001 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
yig@d/e3 0.001 0.001 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000

1 1 1 1 1 1 1 1 1 1

OK OK OK OK OK oK OK OK OK OK
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DL ( ) 2(49) 2(50) 3(51) 3(52) 3(53) 3(54) 3(55) 3(56) 3(57) 3(58)
(@ 1000) ctc100 (@ 1000) ctc100 (@ 1000) ctc200 (@ 1000) ctc200 (@ 1000) ctc200 (@ 1000) ctc200 (@ 1000) ctc200 (@ 1000) ctc200 (@ 1000) ctc200 (@ 1000) ctc200
Mdmax  Mm Mdmax(kNm) | _———- | = )} e e e e e e e e
Mm McudkN m) | - | e | —eem ) e e e e e e e
Mdmax/Mm( 17/ [e1¥T0 ) RN Dt e [ I I R A [ N E——
(1
Vdmax(kN) - | | = e e e e e m ) e
Vdmax MdkNm)y | - | - | - | - el e e e e
Vdmax (+ - PR IGOY) N [ IR I [ I —— A ———— I ———— " I R ———
1 Mm A7{Ve1() H [ I————— A ————— A ————— N ————— N ———— N ————— ———— - T ——
Mm T D e e e e R Y R R B
Mdmax/tim L0 Mm (o RIAV/o[117:Y 7 AV/V'c H [N [N I (N (I I N I [ [
Mdmax(kNm)y | -——-——— | -2 | e | e e e o e e
Mdmax Myd Myd(kN m) ——————————————————————————————————————————————————
122 i I o (i N I I [ [ I
y i Mdmax/Myd 1 ___—- | | e e | e e = = e
A{e [ V(<)) I [N I [ [ I S A I E N
AVTCT()Y) H U [N I N R S R [ R I
1Y 2 e Y [ Y v R I (Y T
y i vdmax/Vvud 1 - | = | e = | e e e e e e
2 2 2 2 2 2 2 2 2 2
¢ d(1/m) 0.001380 0.001991 0.002040 0.002042 0.001532 0.000767 0.000323 0.000203 0.000133 0.000095
- ) N(kN) -10984.9 -11070.4 -11049.7 -11032.7 -11007.8 -10361.5 -9794.9 -9238.7 -8810.9 -8578.7
¢ 1(1/m) 0.010008 0.006762 0.006755 0.006750 0.006742 0.006556 0.006406 0.006263 0.006157 0.006100
® 2(1/m) 0.035813 0.032094 0.024380 0.024380 0.024380 0.024380 0.024380 0.024380 0.024380 0.024380
@ 3(1/m) 0.036882 0.033065 0.025375 0.025395 0.025423 0.026218 0.026950 0.027615 0.028090 0.028348
y i 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
yiedel 0.138 0.294 0.302 0.302 0.227 0.117 0.050 0.032 0.022 0.015
yigd/e?2 0.039 0.062 0.084 0.084 0.063 0.031 0.013 0.008 0.005 0.004
yigd/oe3 0.037 0.060 0.080 0.080 0.060 0.029 0.012 0.007 0.005 0.003
1 1 1 1 1 1 1 1 1 1
OK OK OK OK OK OK OK OK OK OK
OK OK oK OK OK oK OK OK OK OK
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DL ( ) 3(59) 3(60) 3(61) 3(62) 3(63) 3(64) 3(65) 3(66) 3(67) 3(68)
(0 1000) ctc200 (@ 1000) ctc200 (0 1000) ctc200 (0 1000) ctc200 (0 1000 ctc200 (0 1000) ctc200 (@ 1000 ctc200 (0 1000 ctc200 (0 1000) ctc200 (@ 1000) ctc200
Mdmax  Mm Mdmax(kNm) | _———- | = )} e e e e e e e e
Mm McudkN m) | - | e | —eem ) e e e e e e e
Mdmax/Mm( 17/ [e1¥T0 ) RN Dt e [ I I R A [ N E——
(1
Vdmax(kN) - | | = e e e e e m ) e
Vdmax MdkNm)y | - | - | - | - el e e e e
\Vdmax (+ - MELCTCC) N A R (N [ [N R (R [ [ I
1 Mm A7{Ve1() H [ I————— A ————— A ————— N ————— N ———— N ————— ———— - T ——
Mm T D e e e e R Y R R B
Mdmax/Mm Mld'%ax Mm a vdmax/NVNud 0 | - 1V - 1 - 1 - - -l .- - -
Mdmax(kNm)y | -——-——— | -2 | e | e e e o e e
Mdmax Myd Myd(kN m) ——————————————————————————————————————————————————
122 A A ————— R A ———— R N ———— N ——"—— N ———— A —————) T ————
y i Mdmax/Myd 1 ___—- | | e e | e e = = e
A{e [ V(<)) I [N I [ [ I S A I E N
vudkny oV -} oV o e e e e e e
1Y 2 e Y [ Y v R I (Y T
y i vdmax/Vvud 1 - | = | e = | e e e e e e
2 2 2 2 2 2 2 2 2 2

@ d(1/m) 0.000063 0.000037 0.000016 -0.000008 -0.000012 -0.000012 -0.000012 -0.000010 -0.000007 -0.000004

(+ - ) N(kN) -8268.0 -8040.0 -7622.0 -7352.9 -7106.0 -6684.0 -6350.9 -6155.8 -5757.0 -5556.6

¢ 1(1/m) 0.006025 0.005978 0.005891 -0.005836 -0.005785 -0.005703 -0.005639 -0.005601 -0.005525 -0.005488

@ 2(1/m) 0.024380 0.024380 0.024380 -0.024380 -0.024380 -0.024380 -0.024380 -0.024380 -0.024380 -0.024380

@ 3(1/m) 0.028715 0.029037 0.029628 -0.030009 -0.030365 -0.031027 -0.031549 -0.031855 -0.032397 -0.032628
y i 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
yigdoel 0.010 0.006 0.003 0.001 0.002 0.002 0.002 0.002 0.001 0.001
yi@d/e?2 0.003 0.002 0.001 0.000 0.000 0.000 0.000 0.000 0.000 0.000
yig@d/e3 0.002 0.001 0.001 0.000 0.000 0.000 0.000 0.000 0.000 0.000

1 1 1 1 1 1 1 1 1 1

OK OK OK OK OK oK OK OK OK OK
OK OK OK OK OK OK OK OK OK OK




)
y a Vd(kN) Rvd(kN) Y i y i vd/Rvd
0 7 1.0 1588.8 3037.5 1.0 0.523 OK
47 28 1.0 2288.7 3037.5 1.0 0.753 OK
47 49 1.0 3362.9 3037.5 1.0 1107 NG
2
y a Vd(kN) Rud(kN) Y i y i Vd/Rud
47 7 1.0 -652.0 1983.6 1.0 0.329 OK
4 28 1.0 1588.7 1983.6 1.0 —— ——--
0 49 1.0 1588.8 1983.6 1.0 —— ——--
@)
5dmm) & L(mm) 6 d/o L
47 3 34.746 56.569 0.614 OK
(4)
6 d 6 d/6 L
(10-3rad) 6 L(10-3rad)
47 3 6.502 10.000 0.650 OK
2. 2
@)
y a Vd(kN) Rvd(kN) Y i y i Vd/Rvd
0 7 10 1588.8 4552.2 1.0 0.349 OK
165 28 1.0 2504.1 4552.2 1.0 0.550 OK
165 49 1.0 3702.1 4552.2 1.0 0.813 OK
2
5dmm) & L(mm) 6 d/o L
165 3 45.796 226.274 0.202 OK
3)
0 6 d/6 L
d(10-3rad) 6 L(10-3rad)
165 3 8.329 20.000 0416 OK




)
y a Vd(kN) Ru(kN) Y i y i Vd/Ru
0 7 1.0 1588.8 5500.6 1.0 0.289 OK
165 28 1.0 2504.1 5500.6 1.0 0.455 OK
165 49 1.0 3702.1 5500.6 1.0 0.673 OK
2
5dmm) & L(mm) 6 d/o L
165 3 45.796 282.843 0.162 OK
©)
6 d 6 d/6 L
(10-3rad) 6 L(10-3rad)
165 3 8.329 30.000 0.278 OK
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M-8

DL ( ) 1(2)
(*+ - ) Nd(kN) -9671.6
Mm Mcud(kN m) 36953.4
La(m) 8,000
Vmu(kN) 4619.2
Vud(kN) 18611.0
Vmu/Vud 0248
M
Mdmax(kN m) |  _—____
Mdmax Myd MydkNm) | -
vio |
y i Mdmax/Myd | .-
Vdmax(kN) 0.0
Vud(kN) 18611.0
yi 1.00
y i Vdmax/Vud 0.000
OK
OK
6 dirad) | -
(+ - ) Ndkn) | -
0 1(rady | -
0 20rad) | -
0 3trad) | -
vio | .
yi6do1 |
yid02 1 _____
yiedses |




M-¢

DL ( ) 2(7) 2(8) 3(9) 3(10) 3(11) 3(12) 3(13) 3(14) 3(15) 3(16)
(0 1000) ctc100 (@ 1000) ctc100 (0 1000) ctc200 (0 1000) ctc200 (0 1000 ctc200 (0 1000) ctc200 (@ 1000 ctc200 (0 1000 ctc200 (0 1000) ctc200 (@ 1000) ctc200
Mdmax  Mm Mdmax(kN m) 1222.2 20904 2253.7 2253.7 19285 12715 662.4 254.0 774 119.0
Mm Mcud(kN m) 4706.6 4701.1 4696.7 4692.3 4686.8 4819.1 4931.2 5043.3 5125.2 5928.4
(1 Mdmax/Mm( Mcud) 0.260 0.445 0.480 0.480 0.411 0.264 0.134 0.050 0.015 0.020
Mm Mm Mm Mm Mm Mm Mm Mm Mm Mm
Vdmax(kN) 1779.6 1205.6 509.6 579.1 673.5 6735 521.0 291.8 65.4 445
Vdmax Md(kN m) 1222.2 2090.4 22453 2253.7 1928.5 12715 662.4 254.0 773 22.7
Vdmax (+ - ) Nd(kN) 4628.3 4651.9 4605.7 4666.0 4689.6 4116.3 3624.6 31328 2785.9 27177
L Vud(kN) 3945.8 3944.4 2179.7 21773 2175.9 22115 22420 22725 2294.0 2298.3
a 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2
M/ M o Vdmax/Vud 0.541 0.367 0.281 0.319 0371 0.365 0.279 0.154 0.034 0.023
M M M M M M M M M M
Mdmax(kNm) | = | -2 } - | e | e e e e o e
Mdmax Myd Myd(kN m) ——————————————————————————————————————————————————
y. 0 e = ===} == == ==} e ey e -
y i Mdmax/Myd | - | == | e | e el el e e e e
Vdmax(kN) 0.8 0.7 0.5 05 0.3 0.2 0.1 0.0 0.0 0.0
Vud(kN) 4379.8 4379.1 26138 26133 26125 2596.9 2583.3 2569.9 2562.2 2560.1
y i 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
y i Vdmax/Vud 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
OK OK OK OK OK OK OK OK OK OK
OK OK OK OK OK OK OK OK OK OK
¢d/my 1 = | - e} e e e ey e e e
+ - NENCL) I R (T (N I I RN I I [RTTT
(OJN(V11) I I [ I i I [ [ [ I
o2/my 1 - | = | = - e e e e e
o3(/my 1 - | = | = - e e e e e
1Y /Z2 o Y v i S [ I A T e —
viede2 1 - | = | 1 = =} e e e e -
yvied/og2 | - | == | ez | e el el e e e e
NI o /0 I S I I I Y T D I S I ——
OK OK OK OK OK OK OK OK OK OK




M-¢

DL ( ) 3(17) 3(18) 3(19) 3(20) 3(21) 3(22) 3(23) 3(24) 3(25) 3(26)
(0 1000) ctc200 (@ 1000) ctc200 (0 1000) ctc200 (0 1000) ctc200 (0 1000 ctc200 (0 1000) ctc200 (@ 1000 ctc200 (0 1000 ctc200 (0 1000) ctc200 (@ 1000) ctc200
Mdmax  Mm Mdmax(kN m) -36.7 -455 -48.1 -48.1 -44.3 -37.1 -47.9 -32.4 -21.0 -9.5
Mm Mcud(kN m) -5241.1 -5168.8 -5190.1 -5217.0 -5243.9 -5266.9 -5401.1 -5408.8 -5415.1 -5543.2
(1 Mdmax/Mm( Mcud) 0.007 0.009 0.009 0.009 0.008 0.007 0.009 0.006 0.004 0.002
Mm Mm Mm Mm Mm Mm Mm Mm Mm Mm
Vdmax(kN) 34.4 28.0 223 146 120 14.7 16.1 16.4 16.4 16.4
Vdmax Md(kN m) 81.2 50.0 249 7.1 -71.3 -61.3 -47.9 -32.4 -21.0 -9.5
Vdmax (+ - ) Nd(kN) -1321.3 -1280.4 -1234.7 -1274.2 1592.2 1543.1 1494.3 1456.6 1422.6 694.6
L Vud(kN) 2511.2 2509.9 2508.4 2509.6 23714 23743 23772 23796 23816 2425.2
a 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2
M/ M o Vdmax/Vud 0.016 0.013 0.011 0.007 0.006 0.007 0.008 0.008 0.008 0.008
M M M M M M M M M M
Mdmax(kNm) | = | -2 } - | e | e e e e o e
Mdmax Myd Myd(kN m) ——————————————————————————————————————————————————
y. 0 e = ===} == == ==} e ey e -
y i Mdmax/Myd | - | == | e | e el el e e e e
Vdmax(kN) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Vud(kN) 2558.1 2556.0 2553.6 2550.8 2548.1 2545.3 25426 2540.3 2538.4 2537.0
y i 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
y i Vdmax/Vud 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
OK OK OK OK OK OK OK OK OK OK
OK OK OK OK OK OK OK OK OK OK
¢d/my 1 = | - e} e e e ey e e e
(+ - NENCL) I R (T (N I I RN I I [RTTT
(OJN(V11) I I [ I i I [ [ [ I
o2/my 1 - | = | = - e e e e e
o3(/my 1 - | = | = - e e e e e
1Y /Z2 o Y v i S [ I A T e —
viede2 1 - | = | 1 = =} e e e e -
yvied/og2 | - | == | ez | e el el e e e e
NI o /0 I S I I I Y T D I S I ——
OK OK OK OK OK OK OK OK OK OK




M-¢

DL ( ) 2(28) 2(29) 3(30) 3(31) 3(32) 3(33) 3(34) 3(35) 3(36) 3(37)
(0 1000) ctc100 (@ 1000) ctc100 (0 1000) ctc200 (0 1000) ctc200 (0 1000 ctc200 (0 1000) ctc200 (@ 1000 ctc200 (0 1000 ctc200 (0 1000) ctc200 (@ 1000) ctc200
Mdmax  Mm Mdmax(kN m) 1310.3 1949.6 2062.4 2062.4 18239 1336.1 858.8 504.9 3122 2133
Mm Mcud(kN m) 4436.5 4435.7 4435.1 44345 4433.7 4397.7 4365.8 4329.3 4302.4 4295.1
(1 Mdmax/Mm( Mcud) 0.295 0.440 0.465 0.465 0.411 0.304 0.197 0.117 0.073 0.050
Mm Mm Mm Mm Mm Mm Mm Mm Mm Mm
Vdmax(kN) 13347 897.2 365.6 4225 511.0 511.0 426.0 276.3 107.9 89.9
Vdmax Md(kN m) 1310.3 1949.6 2053.9 2062.4 1823.9 1336.1 858.8 504.9 312.2 213.3
Vdmax (+ - ) Nd(kN) -5037.0 -5021.3 -5011.9 -5011.9 -4996.2 -4597.3 -4250.7 -3904.1 -3648.6 -3579.3
L Vud(kN) 2978.1 29776 1800.8 1800.4 1799.9 17875 1776.7 1766.0 1758.1 1755.9
a 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2
M/ M o Vdmax/Vud 0.538 0.362 0.244 0.282 0.341 0.343 0.288 0.188 0.074 0.061
M M M M M M M M M M
Mdmax(kNm) | = | -2 } - | e | e e e e o e
Mdmax Myd Myd(kN m) ——————————————————————————————————————————————————
y. 0 e = ===} == == ==} e ey e -
y i Mdmax/Myd | - | == | e | e el el e e e e
Vdmax(kN) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Vud(kN) 2919.9 2919.4 17426 17422 17417 17312 17222 17133 1708.1 1706.8
y i 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
y i Vdmax/Vud 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
OK OK OK OK OK OK OK OK OK OK
OK OK OK OK OK OK OK OK OK OK
¢d/my 1 = | - e} e e e ey e e e
+ - NENCL) I R (T (N I I RN I I [RTTT
(OJN(V11) I I [ I i I [ [ [ I
o2/my 1 - | = | = - e e e e e
o3(/my 1 - | = | = - e e e e e
1Y /Z2 o Y v i S [ I A T e —
viede2 1 - | = | 1 = =} e e e e -
yvied/og2 | - | == | ez | e el el e e e e
NI o /0 I S I I I Y T D I S I ——
OK OK OK OK OK OK OK OK OK OK




M-¢

DL ( ) 3(38) 3(39) 3(40) 3(41) 3(42) 3(43) 3(44) 3(45) 3(46) 3(47)
(0 1000) ctc200 (@ 1000) ctc200 (0 1000) ctc200 (0 1000) ctc200 (0 1000 ctc200 (0 1000) ctc200 (@ 1000 ctc200 (0 1000 ctc200 (0 1000) ctc200 (@ 1000) ctc200
Mdmax  Mm Mdmax(kN m) 1324 711 24.9 -36.6 -43.0 -430 -40.0 -30.5 -214 -11.3
Mm Mcud(kN m) 4295.2 4287.7 4269.2 -4260.6 -4250.1 -4239.6 -4229.2 -4220.3 -4212.9 -4208.3
(1 Mdmax/Mm( Mcud) 0.031 0.017 0.006 0.009 0.010 0.010 0.009 0.007 0.005 0.003
Mm Mm Mm Mm Mm Mm Mm Mm Mm Mm
Vdmax(kN) 727 57.3 43.8 26.2 124 6.7 11.8 139 14.8 14.8
Vdmax Md(kN m) 132.1 67.3 -17.8 -36.6 -35.6 -43.0 -40.0 -305 -214 -11.3
Vdmax (+ - ) Nd(kN) -3510.3 -3441.6 -3342.8 -3245.2 -3219.1 -3067.2 -2970.9 -2887.1 -2820.2 -2781.4
L Vud(kN) 17538 17516 1749.1 1746.0 1745.0 1740.0 1737.0 17345 17324 1731.2
a 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2
M/ M o Vdmax/Vud 0.050 0.039 0.030 0.018 0.009 0.005 0.008 0.010 0.010 0.010
M M M M M M M M M M
Mdmax(kNm) | = | -2 } - | e | e e e e o e
Mdmax Myd Myd(kN m) ——————————————————————————————————————————————————
y. 0 e = ===} == == ==} e ey e -
y i Mdmax/Myd | - | == | e | e el el e e e e
Vdmax(kN) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Vud(kN) 1705.4 1704.0 1702.4 1700.6 1698.7 1696.9 1695.1 16935 1692.2 1691.4
y i 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
y i Vdmax/Vud 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
OK OK OK OK OK OK OK OK OK OK
OK OK OK OK OK OK OK OK OK OK
¢d/my 1 = | - e} e e e ey e e e
+ - NENCL) I R (T (N I I RN I I [RTTT
(OJN(V11) I I [ I i I [ [ [ I
o2/my 1 - | = | = - e e e e e
o3(/my 1 - | = | = - e e e e e
1Y /Z2 o Y v i S [ I A T e —
viede2 1 - | = | 1 = =} e e e e -
yvied/og2 | - | == | ez | e el el e e e e
NI o /0 I S I I I Y T D I S I ——
OK OK OK OK OK OK OK OK OK OK




M-¢

DL ( ) 2(49) 2(50) 3(51) 3(52) 3(53) 3(54) 3(55) 3(56) 3(57) 3(58)
(0 1000) ctc100 (@ 1000) ctc100 (0 1000) ctc200 (0 1000) ctc200 (0 1000 ctc200 (0 1000) ctc200 (@ 1000 ctc200 (0 1000 ctc200 (0 1000) ctc200 (@ 1000) ctc200
Mdmax  Mm Mdmax(kN m) 2375.1 34084 35455 35455 31337 23484 15744 982.9 643.8 457.9
Mm Mcud(kN m) 6789.8 6789.4 6789.1 6788.7 6788.4 6777.4 6768.0 6758.5 67515 6747.3
(1 Mdmax/Mm( Mcud) 0.350 0.502 0.522 0.522 0.462 0.347 0.233 0.145 0.095 0.068
Mm Mm Mm Mm Mm Mm Mm Mm Mm Mm
Vdmax(kN) 23419 15185 518.8 686.4 821.9 821.9 699.5 472.7 201.1 170.6
Vdmax Md(kN m) 2375.1 3408.4 3529.8 35455 31337 2348.4 1574.4 982.9 643.8 457.9
Vdmax (+ - ) Nd(kN) -122384 -12214.8 -12140.3 -12200.6 -12177.0 -115225 -10954.2 -10386.1 -9967.3 -9713.8
L Vud(kN) 4612.4 4611.7 28458 284538 2845.1 2824.8 2807.2 27895 27765 2768.7
a 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2
M/ M o Vdmax/Vud 0.609 0.395 0.219 0.289 0.347 0.349 0.299 0.203 0.087 0.074
M M M M M M M M M M
Mdmax(kNm) | = | -2 } - | e | e e e e o e
Mdmax Myd Myd(kN m) ——————————————————————————————————————————————————
y. 0 e = ===} == == ==} e ey e -
y i Mdmax/Myd | - | == | e | e el el e e e e
Vdmax(kN) 0.8 0.7 0.5 05 0.3 0.2 0.1 0.0 0.0 0.0
Vud(kN) 4379.8 4379.1 26138 26133 26125 2596.9 2583.3 2569.9 2562.2 2560.1
y i 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
y i Vdmax/Vud 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
OK OK OK OK OK OK OK OK OK OK
OK OK OK OK OK OK OK OK OK OK
¢d/my 1 = | - e} e e e ey e e e
+ - NENCL) I R (T (N I I RN I I [RTTT
(OJN(V11) I I [ I i I [ [ [ I
o2/my 1 - | = | = - e e e e e
o3(/my 1 - | = | = - e e e e e
1Y /Z2 o Y v i S [ I A T e —
viede2 1 - | = | 1 = =} e e e e -
yvied/og2 | - | == | ez | e el el e e e e
NI o /0 I S I I I Y T D I S I ——
OK OK OK OK OK OK OK OK OK OK




M-¢

DL ( ) 3(59) 3(60) 3(61) 3(62) 3(63) 3(64) 3(65) 3(66) 3(67) 3(68)
(0 1000) ctc200 (@ 1000) ctc200 (0 1000) ctc200 (0 1000) ctc200 (0 1000 ctc200 (0 1000) ctc200 (@ 1000 ctc200 (0 1000 ctc200 (0 1000) ctc200 (@ 1000) ctc200
Mdmax  Mm Mdmax(kN m) 302.3 1755 74.9 -39.6 -58.3 -59.1 -59.1 -47.2 -340 -18.8
Mm Mcud(kN m) 67395 6729.4 6715.0 -6697.6 -6676.6 -6655.7 -6622.5 -6590.3 -6563.8 -6549.0
(1 Mdmax/Mm( Mcud) 0.045 0.026 0.011 0.006 0.009 0.009 0.009 0.007 0.005 0.003
Mm Mm Mm Mm Mm Mm Mm Mm Mm Mm
Vdmax(kN) 1408 113.2 88.7 56.2 29.6 8.8 16.5 20.7 226 226
Vdmax Md(kN m) 302.3 1755 748 -396 -58.3 -58.8 -59.1 -47.2 -34.0 -18.8
Vdmax (+ - ) Nd(kN) -9460.3 -9207.0 -8856.8 -8412.6 -7993.1 -7541.0 -7181.0 -6823.6 -6532.6 -6379.1
L Vud(kN) 2760.8 2752.9 27421 2729.0 2716.0 2702.7 2690.1 2679.1 2670.1 2665.2
a 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2 1.2
M/ M o Vdmax/Vud 0.061 0.049 0.039 0.025 0.013 0.004 0.007 0.009 0.010 0.010
M M M M M M M M M M
Mdmax(kNm) | = | -2 } - | e | e e e e o e
Mdmax Myd Myd(kN m) ——————————————————————————————————————————————————
y. 0 e = ===} == == ==} e ey e -
y i Mdmax/Myd | - | == | e | e el el e e e e
Vdmax(kN) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Vud(kN) 2558.1 2556.0 2553.6 2550.8 2548.1 2545.3 25426 2540.3 2538.4 2537.0
y i 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00 1.00
y i Vdmax/Vud 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
OK OK OK OK OK OK OK OK OK OK
OK OK OK OK OK OK OK OK OK OK
¢d/my 1 = | - e} e e e ey e e e
+ - NENCL) I R (T (N I I RN I I [RTTT
(OJN(V11) I I [ I i I [ [ [ I
o2/my 1 - | = | = - e e e e e
o3(/my 1 - | = | = - e e e e e
1Y /Z2 o Y v i S [ I A T e —
viede2 1 - | = | 1 = =} e e e e -
yvied/og2 | - | == | ez | e el el e e e e
NI o /0 I S I I I Y T D I S I ——
OK OK OK OK OK OK OK OK OK OK




G3

No 1 2
o1 W RC  Llon  were LR
af 1.0 1.0
pm 1.0 12
Khy 0.292 0.289
Kheq 0.359 0.391
o eq(mm) 132.8 146.0
Teq(sec) 1.217 1.222
My 379 | --——-
d max(mm) 5033 | @ -----
Khmax 0430 | @ --——-
L1 KhL1 0357 | @ ---—-
H 379 | --—--
d max(mm) 5033 | @ -----
Khmax 0430 | @ —----




M-8

DL

(+ - ) Nd(kN)
Mm Mcud(kN m)
La(m)
Vmu(kN)
Vud(kN)
Vmu/Vud

-9671.6
36953.4
8.000
4619.2
18611.0
0.248

Mdmax Myd

Mdmax(kN m)
Myd(KN m)
yi
y i Mdmax/Myd

Vdmax(kN)
Vud(kN)
yi
y i Vdmax/Vud

0.0
18611.0
1.00
0.000
OK

OK

6 d(rad)
(+ - ) Nd(kN)
6 1(rad)
0 2(rad)
0 3(rad)
yi
yifdme1l
yi6d/me?2
yi6d/es3

3
0.049029
-9671.6
0.007235
0.048086
0.055981
1.00
6.777
1.020
0.876
3

OK

OK




M-¢

DL 2 3
(0 1000) ctc100 (@ 1000) ctc200
Mdmax  Mm Mdmax(kN m) 2375.1 19285
Mm Mcud(kN m) 6789.8 4686.8
Mdmax/Mm( Mcud) 0.350 0.411
( 1) Mm Mm
Vdmax(kN) 23419 6735
Vdmax Md(kN m) 2375.1 19285
Vdmax (+ - ) Nd(kN) -122384 4689.6
L Vud(kN) 4612.4 2175.9
a 1.2 1.2
Mdmax/Mm Mld.%ax Mm a Vdmax/Vud 0609 0371
M M
Mdmax(kNm) | = | -
Mdmax Myd MydkNm) | e | -
y. e | e
y i Mdmax/Myd | - |
Vdmax(kN) 0.8 05
Vud(kN) 4379.8 2613.8
y i 1.00 1.00
v i Vdmax/Vud 0.000 0.000
OK OK
OK OK
2 2
@ d(1/m) 0.002057 0.002124
(+ - ) N(kN) 3436.6 3476.1
¢ 1(1/m) 0.003917 0.003910
@ 2(1/m) 0.052485 0.044839
@ 3(1/m) 0.052485 0.044839
y i 1.00 1.00
yigdoel 0.525 0.543
yi@d/e?2 0.039 0.047
yig@d/e3 0.039 0.047
1 1
OK OK
OK OK




No

2
3

(@ 1000)
(@ 1000)

ctc100
ctc200

0.248
0.609
0371

0.000
0.000
0.000

0.876
0.039
0.047

L1
0.935

OK
OK
OK



)
y a Vd(kN) Rvd(kN) Y i y i vd/Rvd
0 7 1.0 1588.8 3037.5 1.0 0.523 OK
47 28 1.0 2288.7 3037.5 1.0 0.753 OK
47 49 1.0 3362.9 3037.5 1.0 1107 NG
2
y a Vd(kN) Rud(kN) Y i y i Vd/Rud
47 7 1.0 -652.0 1983.6 1.0 0.329 OK
4 28 1.0 1588.7 1983.6 1.0 —— ——--
0 49 1.0 1588.8 1983.6 1.0 —— ——--
@)
5dmm) & L(mm) 6 d/o L
47 3 34.746 56.569 0.614 OK
(4)
6 d 6 d/6 L
(10-3rad) 6 L(10-3rad)
47 3 6.502 10.000 0.650 OK
2. 2
@)
y a Vd(kN) Rvd(kN) Y i y i Vd/Rvd
0 7 10 1588.8 4552.2 1.0 0.349 OK
165 28 1.0 2504.1 4552.2 1.0 0.550 OK
165 49 1.0 3702.1 4552.2 1.0 0.813 OK
2
5dmm) & L(mm) 6 d/o L
165 3 45.796 226.274 0.202 OK
3)
0 6 d/6 L
d(10-3rad) 6 L(10-3rad)
165 3 8.329 20.000 0416 OK




)
y a Vd(kN) Ru(kN) Y i y i Vd/Ru
0 7 1.0 1588.8 5500.6 1.0 0.289 OK
165 28 1.0 2504.1 5500.6 1.0 0.455 OK
165 49 1.0 3702.1 5500.6 1.0 0.673 OK
2
5dmm) & L(mm) 6 d/o L
165 3 45.796 282.843 0.162 OK
©)
6 d 6 d/6 L
(10-3rad) 6 L(10-3rad)
165 3 8.329 30.000 0.278 OK




